


| & 0] & AF S & A M
2022 20 A LBHEH DS
2M: SIS
MM oa=X 5
e A2 29 (el &2
- - — bS]
2AH -3 ..SA(ZAH) - HIRAIS - BHAES Ofl AFoH om'&% Hunsz2
DEILED 21,954,417 18,918,117 3,036,300
= 8,673,904
] 334,625
[= 4,012,943
= 8,932,945
=1 =x 1,694,136 1,763,540 AB9,404
=2 388, 467
] 290, 174
[= 234,450
= 781,045
g2 29 266,920 266,920 0
ez nsx 176,520 176,520 0
201 LBt 9| 21,000 21,000 0
01 At 2t2|H| 21,000 21,000 0
onsna 29 21,000
OULSwA Mad 2 22319
500,000« 102 5,000
Oat/5tetd| i E2(He, &=9)
2,000,000 23| 4,000
OABE PAUDH +HHI(HEE E)
1,000,000 123 12,000
301 LUBEAZ 155,520 155,520 0
12 JIEtE A2 155,520 155,520 0
OAH/atB)| MEmal 2ZHAI
155,520, 00024 * 14! 155,520
HA32 29 22 90,400 90,400 0
201 LBt AH| 90,400 90,400 0
01 At 2t2/H| 21,600 14,400 7,200
O0lAs2 |2 21,600
OB AZE(BASETRAUS) 250,000 *12& 3,000
OLUXZ (A, B, HOUS)
600,000 122 7,200
OA22EDH 2 24H| 350,000 x 122 4,200
OARREALLZ 600,000 x 122 7,200
02 2223 H 68,800 76,000 AT7,200
OZZ22 2 HMA 9,800,000 * 14l 9,800
OAAZHISXIH| 7,000,000 14! 7,000
Oxtz X 22| 700,000 102 7,000
OFAUHE A 45,000, 00024 * 124 45,000
oA ALBIEN E& 464,891 440,876 24,015
=2 170,347
] 11,564
[= 131,754
= 151,226
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e P
D od=EN sd
Do AlRIEN B8

- _ - &
SN ZH - S(S) - MRAY - BAS S dImEET
o 3 2 10,200 8,200 2,000
201 et Fy| 4,200 2,200 2,000
01 AtR2teltl 4,200 2,200 2,000
oddESH =24 2,200,000& 14! 2,200
oOAuETIdze 22| 2,000,000& 14! 2,000
202 04l 1,000 1,000 0
01 =L YI 1,000 1,000 0
ONdEM HRFA 100,000& x102! 1,000
301 LB F 5,000 5,000 0
09 HALAHIXIAZ 5,000 5,000 0
ONWAE=EXEN WE Y AL AT X
50,000& *2001 53] 5,000
HdHtHE2ds 2 XA 19,512 18,588 924
307 212+01 A 19,512 18,588 924
03 QIZtEHHHE 2 19,512 18,588 924
O HedeHME gl XI& 17,712
O Jza (& 1,200,000 x 121 % 12& 14,400
O BE= 130,000 121 x12& 1,560
O NS 1,200,000& 12! 1,200
O Axt==< 46,0003 12 552
OAdHME2S 2ZHl X
150,000& *12J1 & 1,800
MME X332 45,815 45,724 91
= 22,907
< 4,582
i 18,326
201 LetEdy| 32,815 32,724 91
= 16,407
& 3,282
i 13,126
01 At 2teltl 32,815 32,724 91
OAt=2tel SSHI(FEX L GHIEXL)
6,000,000& * 14! 6,000
= 3,000
< 600
i 2,400
OMYHH 8,000,000& 14! 8,000
= 4,000
& 800
s 3,200
O=2=3 4,000,000& 14! 4,000
= 2,000
< 400
s 1,600
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SA

X ZH -
o =

wWEILE
He=EX &8

chel: e ALSIEN S

= - = Polls
SA - EHH . C(S) - MRAY - BAS Ofl &4 S HI DS

od 2| 14,815,000 14| 14,815
= 7,407
< 1,482
= 5,926

301 LBtENS 8,000 8,000 0
= 4,000
S 800
= 3,200

01 M2 2EE 6= 4,000 4,000 0
OAM=Z=2ZE|ALY =& 4,000,000& 14! 4,000
= 2,000
< 400
= 1,600

12 JEt2 &= 4,000 4,000 0
OAt=2te] ZAt= 4,000,000 14! 4,000
= 2,000
= 400
= 1,600

402 It X=01 ™ 5,000 5,000 0
2 2,500
< 500
= 2,000

02 QX2 AMLER(OIXTHE) 5,000 5,000 0
OASRIZI JILBAMEAL 5,000,008 14] 5,000
= 2,500
S 500
= 2,000

Agussd Z208 X2 94,000 70,500 23,500
= 94,000

201 Zet=dhl 48,000 26,500 21,500
= 48,000

01 AtS2telH 48,000 26,500 21,500
OXNgusEH HEH 28,000,000& * 14| 28,000
= 28,000
oxgussd 23| 20,000, 0003 * 14| 20,000
= 20,000

301 LBtENS 45,000 43,000 2,000
= 45,000

09 HALAHIXIEAS 10,000 8,000 2,000
OXYU==SUE HArAHl 2,000,000 141 2,000
= 2,000
Ooxgussdd WS 100,000 80 8,000
= 8,000

12 JEt2 &= 35,000 35,000 0
NPused JAE 30,000,000 14! 30,000
= 30,000
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A NFIOHED
g3 Hg=X 58

ool Ol AlBIE O EX EERE
SN B S() - MBAY - BAS 01l &k o e HlDS2

OXHNREHA AME SAE 5,000,000 14! 5,000
= 5,000

307 2I2t01 & 1,000 1,000 0
= 1,000

06 283 1,000 1,000 0
OXNgu=ssd Pz 1,000, 000 * 14 1,000
= 1,000

M2ogele XA 66,800 45,600 21,200
= 53,440
= 2,672
= 10,688

301 et d= 66,800 45,600 21,200
= 53,440
& 2,672
= 10,688

01 At EE & 263 66,800 45,600 21,200
OSSN 3,800,000& 1521 57,000
= 45,600
== 2,280
= 9,120
OO MLAE M (FIHR) 1,400, 000& 72! 9,800
= 7,840
& 392
= 1,568

ZEUEHLF G2 (FHALSIZ2NHRY) 11,564 11,564 0
| 11,564

201 et g| 5,564 5,564 0
| 5,564

01 At 22l gl 5,564 5,564 0
OLZZ g AL AY| 5,564,000& *14] 5,564
| 5,564

301 et d= 6,000 6,000 0
| 6,000

09 HALAIHIXI A2 4,000 4,000 0
OZZNd2Y HAALI 3,000,000& *14] 3,000
| 3,000
OILZZ )& IIA WSHlI  10,000& %1021 103 1,000
| 1,000

12 JIEt2 &= 2,000 2,000 0
AR ZA=E 200,000& 103 2,000
| 2,000

ZUCHOY PHYS SEXL 182,000 183,000 21,000
= 107,000
= 75,000

101 Q124 H| 22,000 23,000 21,000
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2M: W=D
I Hg=X 58
&2 68 MZE0 ST (che &S

s

SN BB S(E) - MRAY - BAS Ofl &t o

=10

] i

J2m
o
EJ
i
oy

H

22,000

04 JIZtN 22 XNEE
e

OTHESKI A

=

= 22,000 23,000 A1,000
21 ol

2,200,000 *121 %102 22,000
22,000

H

201 et & 10,000 10,000 0
10,000

H

01 At2telH] 10,000 10,000 0
OMY &2t 22 10,000, 000& * 14 10,000
10,000

H

301 LEIENZ 150,000 150,000 0

75,000
75,000

M

&= 150,000 150,000 0

500,000& x50 x6& 150,000

75,000
75,000

M

220 M= E S A2 SeHAY 35,000 0 35,000
17,500
17,500

M

307 212t0l A 35,000 0 35,000

17,500
17,500

M

AAIH B & 35,000 0 35,000

,000,000& * 14! 35,000

17,500
17,500

M

StREIHE X& 238,690 205,738 32,952
167,512
26,772
44,406

M

HAUEREE Ots¢=H| X& 450 450 0
360
18
72

H X

301 B NZ 450 450 0
360
18
72

H X

=Rk 450 450 0
22 ots2=HI 450,000 1 450
360

18
72

M
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(i}

x
Xl

e K
4T 0x H0
Ot 2
&AM
0 gy &
o

2|

!
x

CEHB . C(SIH) - NIRAIY - BES

=[x
Eim

12H

ror
iT
1
=}
o
00
10
o

S XN&AL

M

208,940
167,152
20,894
20,894

160,388

H X

208,940
167,152
20,894
20,894

160,388

48,552

=
S
OSIRE OtsA=Hl S X AS

177,6703 *98H 123

M

208,940

208,940
167,152
20,894
20,894

160,388

48,552

M1

29,300

5,860
23,440

44,900

A 15,600

M1

29,300

5,860
23,440

44,900

A 15,600

50,0003 102 »22]

M1

1,700,000& x8& *12]

M1

350,000 »42EH x 13|

M1

29,300

1,000

200
800

13,600
2,720
10,880
14,700
2,940
11,760

44,900

A 15,600

X H

723,635
218,120
111,098

75,924
318,493

850,006

A126,371

OH0ISS A&

M H

311,600
218,120
18,696
74,784

425,100

A 113,500

HH W

150,000
105,000
9,000
36,000

200,000

/50,000

150,000

200,000

/50,000

o =
I>
0
0
>

2=
37,500,000 100 2 +4=2 | 150,000
105,000

9,000

o
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S H:
7(‘| il—l:
C|—O|:

wWEILE
He=EX &8
220t - UEehs X

SA - B SRA(EH) - MIRAY

oz
o

04l 4 o

=[x

i
J12H

HJ

36,000

307 glztol

H A

161,600
113,120
9,696
38,784

225,100

263,500

M ALZIZSXAMEE X

Qo0& MHlA 28 X2
40,400,000& *1JH A x42 D]

T

HH W

161,600

161,600
113,120
9,696
38,784

225,100

263,500

e
o
|
0
Ho
O
HO
tol

PISXHE 22 (2%H])

H X

152,360
76,180
15,236
60,944

148,840

3,520

307 212t0l A

H

152,360
76,180
15,236
60,944

148,840

3,520

H X

152,360

152,360
76,180
15,236
60,944

148,840

3,520

e
0y
=}
0
He

CHE2StEX2HE 22 (EHIEX)

M

152,600

30,520
122,080

149,000

3,600

307 glztol

M

152,600

30,520
122,080

149,000

3,600

(ZHIEX)
8,150,000 * 14 2 +42 |

M

152,600

152,600

30,520
122,080

149,000

3,600

M

54,336
27,168

5,434
21,734

52,608

1,728

307 212t0l A

M

54,336
27,168

5,434
21,734

52,608

1,728

11 MIISEXAHEES

OIS % HHME S YSUSAHA X
= 13, 2

Il

54,336

54,336
27,168

52,608

1,728
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S H:
7(‘| il—l:
C|—O| :

wWEILE
He=EX &8

H2AIHE -

Ch22ts X

=
e

R

- SAEA) -

M AL

oz
o

04l 4 o

=10

i
J12H

M HY

5,434
21,734

Ct

Z3tE

SEnE

KEA MM

M

3,684

737
2,947

3,690

AB

307 glztol

M

3,684
737
2,947

3,690

B

10 Ab2I = XIAl
ot=23tot

HSHIRIEHIEX

= 2 KA MR
921,000 *1JH A x42 D]

dEW=

M

3,684

3,684

737
2,947

3,690

B

o
o
e
Pa
18
o
0y
ton

FXI&

M

15,500
7,750
1,550
6,200

15,500

307 212t0l A

HH

15,500
7,750
1,550
6,200

15,500

11 AFSI = X) AF
=s0|0l

HE X
ALLSAE (=0 NR)
3,875,000& *1H 242 D

Xt

M

15,500

15,500
7,750
1,550
6,200

15,500

J1]
=)
=
e
0z
fob

M

2,400

480
1,920

2,400

307 212t0l A

M H1

2,400

480
1,920

2,400

11 A2 = XA
oZzso0l¢l

[ea =]
= T

I a5 UEH At X
600,000& 10 A +42 D]

M

2,400

2,400

480
1,920

2,400

Al

Hetel & o8

02

At

M

1,900

380
1,520

1,900

307 glztol

M

1,900

380
1,520

1,900

ARSI S XA
OAIAH 2

22X

& J18&AL FOt
47,5003 x40 * 12

1,900

1,900

1,900
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SH BEIED
M3 ol8=x ZX

ctel: A0S - U2shts X

S RE-E

- SAEA) -

M AL

oz
o

04l 4 o

=[x

i
J12H

M HY

380
1,520

Ch2stiy st=2stsil X

M

2,935

587
2,348

6,720

A3,785

307 glztol

M

2,935

587
2,348

6,720

AN3,785

AL SXIAMEE X
OUZeIEXH &=

ns X

35,000 +6.988H « 122

M

2,935

2,935

587
2,348

6,720

AN3,785

ABISXIAIE (S ItEA

H) SAL 22X

M

11,520

2,304
9,216

11,520

307 212t0l A

M

11,520

2,304
9,216

11,520

13

AR EX=E
160,000 x6H 122

M

11,520

11,520

2,304
9,216

11,520

14,800

14,800

14,800

14,800

3,700,000& 4Jt+

14,800

14,800

14,800

XY

9,280,925
3,057,788

8,820
3,149,798
3,064,519

8,234,692

1,046,233

ESA4 ots X

H A

2,037,170
890,380
902,611
244,179

1,998,956

38,214

H

204,423
132,875
35,774
35,774

204,423

M H

204,423
132,875
35,774
35,774

204,423
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AN WSIHED
¥ ots=X sd
=@ E|AIE ot X2 (cte ®

SA - ZE - SRA(3H) - MRAL

AR

Off &F o4

=[x

i
J12H

204,423, 0003 141

H A

204,423
204,423

132,875
35,774
35,774

M H

225,954
146,870
39,542
39,542

382,280

A 156,326

HH

225,954
146,870
39,542
39,542

382,280

A 156,326

225,954, 0003 141

H A

225,954
225,954

146,870
39,542
39,542

382,280

N 156,326

M H

939,005
610,353
164,326
164,326

947,000

AT,995

HH W

939,005
610,353
164,326
164,326

947,000

AT,995

939,005, 000& * 14!

H o

939,005
939,005

610,353
164,326
164,326

947,000

AT,995

M H1

4,758
1,427
3,331

4,272

486

M

4,758

1,427
3,331

4,272

486

4,758,000 14!

M H1

4,758

4,758
1,427
3,331

4,272

486

H

661,206
661,206

615,649

45,557

H

502,320
502,320

457,920

44,400

502,320

457,920

44,400

314~




A NFIOHED
g3 ots=X 88
=@ E|AIE ot X2 (el &R

SN B CR(BH) - MRAY - BES 0l et

=10

] i

J2m
o
EJ
i
oy

Oclt

0

222X

0

260,000& 161 12042 502,320
502,320

H

307 2I2t0l & 158,886 157,729 1,157
158,886

H

10 AlRIS XA EHE2EHIEX 158,886 157,729 1,157
OFcltd 2it= WAL

158,886, 0003 * 14! 158,886

158,886

H

22 2UHEY 28X 564 620 N56
282
84
198

H A

201 et & 104 160 N56
52
15
37

H A

01 At2telH] 104 160 A56
22 2LIHEE 22| 104,000 x 13l 104
52

15
37

M H

301 LEHEN S 460 460 0
230
69
161

H A

AHIXI&Z 160 160 0
OR2 2LIHE Y W=S0Hl 40,0008 2% 23 160
80

24
56

2a= 300 300 0
O=R2 ZLIHZEE &3] 50,0003 +2H 3 300
150

45
105

M H

H o

oeloly gstEdls N2 1,260 3,255 A1,995
252
,008

M H1

301 LEIENZ 1,260 3,255 A1,995

252
,008

M

01 A2 2EH =53 1,260 3,255 A1,995
Oo0gold gstEtls X 105,000& x12F 1,260
252
1,008

M H1

Ots=XIAEXZ 2,382,341 2,591,220 A 208,879
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SA
X ZH .
(== I

EEE

wWEILE
Ors=X &8
OtS=EXAIE X

= = — X L=
SA SR (S) - MRAY - BAS il &t e RS2
= 998, 455
L= 571,911
i 811,975
SSAE LA 29 6,500 6,500 0
301 YPYBNZ 3,500 3,500 0
09 HALAHIXIAZ 3,500 3,500 0
OESAEBAMA B4 & A HIE
50,000 402! 2,000
OZJANE0IY stotSUsl AT K&
50,000& 302! 1,500
307 QI2+0I A 3,000 3,000 0
04 QIZHSHALALH E X 3,000 3,000 0
ONE0IE 25 ALK 3,000,000& 14! 3,000
Heloly SEas X 20,950 20,500 450
& 4,190
o 16,760
307 SI2t0I & 20,950 20,500 450
& 4,190
i 16,760
02 QIZtAAMAIEE X 10,900 10,900 0
OQ0E0lE Hitetd] 500, 000& *9H 2~ 4,500
& 900
o 3,600
OFRXE HE0lE Wil
6,400,000 =14 6,400
& 1,280
o 5,120
10 MSISXAIEEHER2IHIEX 10,050 9,600 450
OZ33E0eo0ld xelg 21l
10,050, 000& * 14! 10,050
L= 2,010
i 8,040
O2lold wdA MRMH K 39,240 36,800 2,440
L= 7,848
i 31,392
307 QI2+0I A 39,240 36,800 2,440
L= 7,848
s 31,392
10 MSISXAIEEHER2IHIEX 39,240 36,800 2,440
O&ESROIXNE Helold ESUWAL HSIHSHI
100,000 x8& 1201 2 9,600
L= 1,920
i 7,680
o0z &Y 100,000& 87 & 23| 17,400
L= 3,480
i 13,920
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A WIIHE
g3 ots=X 88
&2l OtSSXAEXH (el &R

SN B CR(BH) - MRAY - BES 0l et

=[x

i

12H
Es
£
Ol
0

Od0et EGE X 30,0002 3412042 12,240
2,448
9,792

M

oeord X 36,800 41,400 A4,600
18,400
9,200
9,200

HH W

307 glztol 36,800 41,400 24,600
18,400
9,200
9,200

H A

02 2I2ZtA AL E £ 28,800 33,200 A4,400
2EAIE W W Sl 3,800, 0003 * 14! 3,800
1,900

950
950

oxtg2g| 25,000,000 * 14! 25,000
12,500
6,250
6,250

10 AR STAEEE2IHIE X 8,000 8,200 A200

HH

HH W

,000, 0003 * 14 8,000
4,000
2,000
2,000

HH W

g]
0
ot
<
s
o
1P}
-
0

62,000 57,880 4,120

46,500
15,500

M1

307 glztol 62,000 57,880 4,120

46,500
15,500

M

10 Al S XA EHE2EHIEX 62,000 57,880 4,120
OZ338 0&olE A& 31,000, 0003 »2JH 2~ 62,000

46,500
15,500

M

EFuAMA 1Al K& 1,568,754 1,821,424 A252,670
784,377
392,188
392,189

H A

307 212t0l A 1,568,754 1,821,424 N252,670
784,377
392,188
392,189

H o

ANANEEEH2EHIE X 1,568,754 1,821,424 A252,670
2l o 2 PN

1,108,942,000& * 14! 1,108,942
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A NFIOHED
g3 ots=X 88
&2l OtSSXAEXH (el &R

SN B CR(BH) - MRAY - BES 0l et

=10

] i

J2m
o
EJ
i
oy

554,411
277,235
277,236
O otdE N 0IE XI& 277,676,000 141 277,676
138,838
69,419
69,419

HH )

HH W

31,944,000 * 14! 31,944
15,972
7,986
7,986
OZOHOISEHE0IE K& 150,192,000 14 150,192
75,096
37,548
37,548

H o

HH W

SSWAA oAl X2 (XA 37,200 29,400 7,800

307 glztol 37,200 29,400 7,800

10 AR STAEEE2HIE X 37,200 29,400 7,800
OE=sud |25+ IR 37,200
O230]&t 30,0003 202! * 1204 & 7,200
O548 04t 50,0003 502! x120H & 30,000

EFUNE M4 X2 391,356 369,536 21,820
195,678
97,837
97,841

H

307 2I2t0l & 391,356 369,536 21,820
195,678
97,837
97,841

M H

2IHIEX 391,356 369,536 21,820
OBX(HEESK)WA 187,142,000& * 14! 187,142
93,571

46,785
46,786

H A

110,382, 000& * 14| 110,382
55,191
27,595
27,596
O Xl LA 34,958,000 * 14! 34,958
17,479
8,739
8,740
O=EESUA S8 58,874,000 x 14! 58,874
29,437
14,718
14,719

M H

H A

H
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SA
X ZH .
(== I

EEE

wWEILE
Ors=X &8
OtS=EXAIE X

- _ - PSLE|
SA-F3H - SA(ZA) - HRAY - BES Off &F o4 'Oﬂ'@oEu Hws2
oHelolE XgEsFHl N2 40,800 40,800 0
307 212t0l A 40,800 40,800 0
10 Al S XA EHE2EHIEX 40,800 40,800 0
oogold xtE==al XN 40,800
050 0lat AlA 500,000 *5JH A« 1204 & 30,000
O30E~498 Al4 300,000 10 2+ 1200 & 3,600
O30 018+ AlE 200,000 *3JH 2+ 1200 & 7,200
Olglols 2xee LXtel X& 59,400 54,000 5,400
< 11,880
= 47,520
307 212t0l A 59,400 54,000 5,400
< 11,880
= 47,520
10 AR STAEEE2HIE X 59,400 54,000 5,400
oogold Ex0 dXiel K&
550,000& x99« 1204 2 59,400
< 11,880
= 47,520
oelols SEgsHl N2 108,000 108,000 0
307 glztol 108,000 108,000 0
10 Al S XA EHE2EHIEX 108,000 108,000 0
oogoly Sg&sH X
50,0003 *180H 1201 & 108,000
O2lold et BH SOty K& 1,741 0 1,741
< 348
= 1,393
307 212t0l A 1,741 0 1,741
< 348
s 1,393
02 QIZtHE AR E & 1,741 0 1,741
O0glold HMZH SHHIOLY X
1,741,000& * 14! 1,741
< 348
= 1,393
2N 212 oeold 28l XA 9,600 0 9,600
< 1,920
= 7,680
307 212t0l A 9,600 0 9,600
< 1,920
s 7,680
10 ARISTAEEE2HIE X 9,600 0 9,600
OF=FEXNA A2 0201E 218l XI&
9,600, 000& * 14! 9,600
< 1,920
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o9l HASSE orse (S5 &2
- _ - &
SN ZH - S(S) - MRAY - BAS Ol &t o S dImEET
CENTEE] 400 400 0
OBALEIIX 24! 8,00021 %502 400
= 320
= 24
2 56
12 e R A S 10,000 2,500 A2,500
OZ2IY X LAR
50,0002 2081 * 100 =212 10,000
= 8,000
= 600
= 1,400
OIS LTANE X 72,705 33,336 39,369
= 50,894
= 4,362
2 17,449
301 P2 HZ 72,705 33,336 39,369
= 50,894
= 4,362
2 17,449
NEEEEEE 72,705 33,336 39,369
OIS XRHE XF 90,4208 %672 122 72,705
= 50,894
= 4,362
2 17,449
OIS A X2 509,495 351,220 158,275
= 13,685
2 495,810
307 212401 & 509,495 351,220 158,275
= 13,685
2 495,810
11 A= XIAI B X 509,495 351,220 158,275
OWSHE OFSZ Al XY 7,00020%1158 852 68,425
= 13,685
2 54,740
OsIIE £ -2 BHY IS4 NV (DS
=EELP) 7,00021+1602 x952 106,400
OBIIE BY OlS2AHl N (RIHSLH
) 7,000 %322 *1002! 22,400
ORI OISHE SAX &
7,00021 %332 x2472 65,702
OUMNAZDRAT|HOISHE SAX
7,00021 %2383 x2472 39,767
OEZ2&0IE0ISXIAOISHE SAXR
7,00024 %2384 x2472 39,767
OYYXIAOISHE SAX &
7,00024 *2384 x2472 39,767
OTHIRKHOISHE SAX
7,00021 %2383 x2472) 39,767
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2N DRNED
=R RTEEN

Rl MASE ots2el (el &
. - - N
. SA(3A) - NRAY - BES ol &t S HIDE
OLAXNANEHE SAKSA
7,000 x50 x250 87,500
f0ts K& 1,000 1,000 0
201 223yl 1,000 1,000 0
01 Ab=2t el 1,000 1,000 0
OOtS=XAIY SR Iy
100, 0002 5 A +23] 1,000
s =54 N2 180,000 54,000 126,000
301 LBtENS 180,000 54,000 126,000
01 Al Ed XM +dl= 180,000 54,000 126,000
OJtEAE 2FHl X&  500,000& 30 «12& 180,000
geots ds+g X 12,600 10,800 1,800
Jl 8,820
S 756
= 3,024
301 2283 12,600 10,800 1,800
Jl 8,820
S 756
= 3,024
01 Al Ed XM +dl= 12,600 10,800 1,800
ogYots ¥EEx= A&
150,000 x7& =123 12,600
Jl 8,820
S 756
i 3,024
2 - IHEAS0IS delXE KNHAY 2,200 2,200 0
= 1,540
& 132
= 528
301 LBtENS 2,200 2,200 0
= 1,540
S 132
i 528
01 Al Ed XM +dl= 2,200 2,200 0
O IIE RG0S delXg KA
200,000 11 2,200
= 1,540
& 132
= 528
2305 22 3,235,706 2,337,342 898,364
= 775,851
S 1,569,472
i 890,383
230ts 420y X2 38,890 48,100 29,210
S 7,778
= 31,112
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A WIIHE
g3 ots=X 8L

=
S C
1

& BE50ts 2el (el &
o - = PSEE
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
01 M2 2EH 0= 2,000 0 2,000
oZ=z8 % JIEt MBlA X &
166,600 x 12 2,000
= 1,600
S 120
= 280
307 212+l 2,000 0 2,000
= 1,600
< 120
= 280
0122 +=Hl 2,000 0 2,000
OAHZHA , Held Al HE £ 22|
166,600 x 12 2,000
= 1,600
S 120
= 280
OlSSTUHZAL =HS &4l StAIXZ 10,000 0 10,000
= 5,000
= 5,000
405 AHaks S| 10,000 0 10,000
= 5,000
= 5,000
01 A =EFSH 10,000 0 10,000
OOtSSIUHEAL =5 | stAIXIE
10,000,000 14| 10,000
= 5,000
= 5,000
Ots=X 24 715,668 708,914 6,754
= 255,036
< 80,447
= 380, 185
OLS=EXI WAL XI& 119,952 114,254 5,698
= 59,976
S 11,99
= 47,980
101 2124H| 119,952 114,254 5,698
= 59,976
S 11,99
= 47,980
04 JIZtN 22 NS+ 119,952 114,254 5,698
OOtSSXI WAL THHI(D12HH) X2
1,428,000& x7E x12& 119,952
= 59,976
S 11,99
= 47,980
AS0otsHH 298 A& 390,120 398, 160 A8,040
= 195,060
S 39,012
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e P
D oks=EA sd
D OtsSsEX 2

= = — X L=
SA SR (S) - MRAY - BAS il &t e RS2
Ol & o
s 156,048
307 S12t0I & 390, 120 398,160 A8,040
= 195,060
& 39,012
i 156,048
10 AL S XA HE2FHIEX 390, 120 398, 160 A8,040
OX<SotsHE 2FXIR (302! 014f)
8,390,000& * 1 2+ 12& 100,680
= 50,340
L= 10,068
i 40,272
OXS0otsHE 2SR (292 0I5t)
6,030,000& 44 2=+ 123 289,440
= 144,720
& 28,944
o 115,776
KNAotsSHE 298 N3 (SHEX) 9,936 71,400 AN61,464
& 1,987
o 7,949
307 QI2+0I A 9,936 71,400 AB1,464
& 1,987
o 7,949
10 AL SEXAIEHE2IHIEX 9,936 71,400 261,464
OXS0otsHE 298 =t XI&(2921016t)
441,000 *4Z J| *404 & 7,056
& 1,411
o 5,645
OXS0otsHE 28 =t X2 (30210]4)
720,000 *4= J| 100 & 2,880
= 576
= 2,304
XNSotsHEH 21 X2 (XAl 32,400 32,400 0
307 QI2+0I A 32,400 32,400 0
10 AL SEXAIEHE2FHIEX 32,400 32,400 0
ORI XS OtSHEH =2 X&
500,000& x12& 6,000
ORAXAOtsHEH 28 X2 700,000 +12& 8,400
OLAXANtSHEH 22 X2 500,000 +12& 6,000
ogaes RUuXNGA0sHH 28 X&
500,000& x12& 6,000
O&=Z240l8t0ts XNdotsdE 28 K&
500,000 x12& 6,000
XNH0otsHEH 028 stote X 4,000 4,000 0
307 QI2+0I A 4,000 4,000 0
04 QIRHHALAIRI E X 4,000 4,000 0
oo=dg stotd M=l X2 4,000,000& 13l 4,000
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2AM: WIIEL
M ots=AX s
el ots=EX 29 (el &3
- _ - &
SA - ZH - SA(SH) - MRAY - BES 0l el S HRE2
XEotsHE 2SHE HZ K& 22,000 22,000 0
307 QI2+0I A 22,000 22,000 0
11 MSI=SXAMEE = 22,000 22,000 0
ORI XHotsdE K&
2,000,000& 23] 4,000
OR4t XNF0otsHEH KA 3,000,000& 23l 6,000
oYY XFotsHEH KA 2,000,000& 23] 4,000
QAU RA XAOtSHEH XIS
2,000,000& 23] 4,000
O=2=24d0|8t0t8 NE0tsHEy XA
2,000,000& 23] 4,000
MIISXAIE EAMX SXI=(0tSHH) 18,000 0 18,000
& 3,600
s 14,400
307 QI2+0I A 18,000 0 18,000
& 3,600
s 14,400
11 MSI=SXAMEE = 18,000 0 18,000
O ASISEXAE BEAMK SX=S(XNS0tSHE
) 150,000& x10H ~12& 18,000
& 3,600
s 14,400
KL0otsHE lAdl =t K& 119,260 0 119,260
& 23,852
s 95,408
307 QI2+0I A 119,260 0 119,260
& 23,852
s 95,408
10 MSISXAIEEHER2IHIEX 119,260 0 119,260
OXlYotsdH 21Addl 252 N&
5,963,000& *5I A *4= | 119,260
= 23,852
s 95,408
A d B 2 84 263,060 282,120 A 19,060
= 9,270
| 2,400
& 2,344
o 249,046
A Ad |4 247,260 266,320 A 19,060
= 9,270
< 2,344
o 235,646
Hal 45283 KA 5,500 5,500 0
301 YPYBNZ 5,500 5,500 0
09 HALAHIXIAZ 5,500 5,500 0
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2AM: WIS
Mo HAd ©5 U 84
Celr AW AW 84 (eto): &2
= X XH Ct2l (S = o HASZ OH x‘—-IL'i'E =2}
Tkl'ox—|'|_|"l‘|(21)")'k||—rA|'|=|"l£o—1 0:"‘&'—| O:H&.OH t”DLEI:I
= 1,050
s 5,250
01 At 22|l 8,500 3,000 5,500
osotel2Z Mzl 850,000& x10JH S Ot el 8,500
= 3,400
< 850
i 4,250
03 #AI2EH| 2,000 4,750 22,750
OSOtel AL 2l 200,000& x10JH S Ot el 2,000
= 800
< 200
s 1,000
301 YPYBNZ 2,000 4,750 AN2,750
= 800
< 200
i 1,000
09 HAtAHIXIZE S 2,000 4,750 22,750
OSOtcI At & WSEIA 24t
200,000& x10JH S Ot el 2,000
= 800
< 200
s 1,000
HAE A2 8,540 9,900 A 1,360
= 4,270
= 854
i 3,416
301 LEEF 8,540 9,900 21,360
= 4,270
& 854
s 3,416
01 A2 EE 3613 8,540 9,900 A 1,360
ONAS HedEAE AMEE XA
12,2002 *70E 10& 8,540
= 4,270
= 854
i 3,416
s o9 Fad IOHgE A& 1,200 0 1,200
< 240
i 960
201 LetEdy| 1,200 0 1,200
< 240
i 960
01 AtR2teltl 1,200 0 1,200
OXIIHYE Z23 2Zd|l 1,200,000& 14! 1,200
& 240
i 960
44 23 & 15,800 15,800 0
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A WIS
Hm: HAE 95 U 54
el ¥ad g3 A (el &
o - = PSEE
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
01 =W oHI 2,000 2,000 0
oFad gF =N 100,000 x 102 x2& 2,000
S3TAUSEAE 2208 29 2,000 2,000 0
201 Zet=dhl 2,000 400 1,600
01 AtR2telH 2,000 400 1,600
OZz182d MaH| 200,000& *102 2,000
el sX S 9,534,311 8,175,728 1,358,583
= 5,064,057
S 603,037
= 3,867,217
ool datory X3 1,549,467 1,670,424 N 20,957
= 1,063,480
S 140,243
= 345,744
s =s0Xs 1,324,906 1,322,147 2,759
= 927,434
< 119,242
= 278,230
301 2283 1,324,906 1,322,147 2,759
= 927,434
< 119,242
= 278,230
01 Al Ed XM +dl= 1,324,906 1,322,147 2,759
oFld= XA 110,408,8332 123 1,324,906
= 927,434
S 119,242
= 278,230
== (OIx) X2 98,983 118,674 219,691
= 69,288
< 8,908
= 20,787
301 Let2d3 98,983 118,674 219,691
= 69,288
< 8,908
= 20,787
01 Al Ed XM +dl= 98,983 118,674 219,691
oFM=€(Ix) XA 8,248,583« 12 98,983
= 69,288
S 8,908
= 20,787
= (XaE) X2 94,368 96,320 A1,952
= 66,058
< 8,493
= 19,817
301 LBtENS 94,368 96,320 A1,952
= 66,058
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SN BEIED
Hm: Zojol =X S

SRl ZoHel MaEord X2 EEEEE
o - PSEE
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
S 8,493
= 19,817
01 M2 2EH 6= 94,368 96,320 N1,952
OZM=E(XHaRIS) N 7,864,0002 122 94,368
= 66,058
< 8,493
= 19,817
o =M E2H XA 17,700 17,200 500
< 3,540
= 14,160
307 212t01 A 17,700 17,200 500
< 3,540
= 14,160
01 =27 =H] 3,300 2,800 500
OZH! HI=0 27 2LH X
100,000 10 1,000
< 200
= 800
OFHel AAHX X2 100,000 23 2,300
S 460
= 1,840
M AIRRISXIMEE X 14,400 14,400 0
OFMe =4 N 1,440,000& 102 14,400
S 2,880
= 11,520
ol AXI=HI| X 8,352 8,352 0
301 Let2d3 8,352 8,352 0
01 M2 2EE 6= 8,352 8,352 0
oFMe AXN=HI| 0ls=2 A&
23,2002 x30& x 122 8,352
NAS S0 m2ds 0ls2s Ad 4,158 4,158 0
301 LBtENS 4,158 4,158 0
01 M2 2EE 6= 4,158 4,158 0
ONASEMIIT RE2LS 0182 A
9,900& *35It 1+ 12F 4,158
HEEM E4tHIE X2 1,000 1,000 0
= 700
S 60
= 240
301 LBtENS 1,000 1,000 0
= 700
S 60
= 240
01 M2 2EE 6= 1,000 1,000 0
O S4tHIE XI& 1,000,000 1 1,000
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SN RIS
i Zojol =X S

el OO MBOLY X (et @
- _ - &E
SN ZH - S(S) - MRAY - BAS Ol &t o S dImEET
= 700
= 60
2 240
Zojol o2l X 34,532 17,050 17,482
2 27,491
= 1,408
2 5,633
CESIESnE 2,725 2,725 0
2 2,180
= 109
2 436
307 QI12H0I & 2,725 2,725 0
2 2,180
= 109
2 436
NEEEEED 2,725 2,725 0
ORoe BXI|7 BT 272,5002*10% 2,725
2 2,180
= 109
2 436
Zojelol 2 X 31,357 3,089 18,268
2 25,086
= 1,254
2 5,017
307 QI12H0I & 31,357 3,089 18,268
2 25,086
= 1,254
2 5,017
05 BI2r9IEr3 31,357 3,089 18,268
oOFoeIolZH X 7,839, 2502 x4 31,357
2 25,086
= 1,254
2 5,017
HASHOHRl A U A X2 450 1,23 AT86
2 225
= 45
2 180
307 QI12H0I & 450 1,23 AT86
2 225
= 45
2 180
NEEEEETT 450 1,236 A786
OMASHOHO FEH| 2 HAH| K&
45,00021%10% 450
2 225
= 45
2 180
Hojol ASIES X 292,781 282,073 10,708
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A NFIOHED

g e =X sd

celr Zojel AISIEE X EERE
% = o= &
SN ZH - S(S) - MRAY - BAS Ol &t o S dImEET
= 137,229
= 37,016
2 118,536
ZOHQl UBre ARtz 246,538 234,608 11,930
= 123,269
= 24,654
2 98,615
101 @1214| 246,538 234,608 11,930
= 123,269
= 24,654
2 98,615
04 JIAH2ZIELS 246,538 234,608 11,930
OFOHl Ubre AX2| X2
2,082, 75921 x9% * 122 246,538
= 123,269
= 24,654
2 98,615
ZONOILXI2I (AIZLEFOHQ! QHFAF TH2H) AREY 17,450 0 17,450
= 13,960
= 698
2 2,792
307 21240/ 17,450 0 17,450
= 13,960
= 698
2 2,792
05 pI2t9IEr3 17,450 0 17,450
OXOHQILTI2I(AIZFEHOHO! OHOFAL TH2A) AR
17,450,000 %1% 17,450
= 13,960
= 698
2 2,792
BOHOl MEEO XB 4,565 4,565 0
201 2 gr2 | 4,565 4,565 0
01 AlR 22l 4,565 4,565 0
OFOHQUZR AN ADER (ML}, S4D)
337,5002 *43] 1,350
OFOjO HIAZH OLYXBE 7Y
121,5002*10% 1,215
OFOHARISA X 7Y 2,00020+1,00004 2,000
O DSSIZ N 23,308 42,000 A18,672
= 11,664
2 11,664
301 YBHEHD 23,308 42,000 A18,672
= 11,664
2 11,664
01 ABIBEX 263 23,308 42,000 18,672
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A NFIOHED

g e =X sd

CHol: FOHQl ALBIEE XIE (ol @2
- _ - &E
SA -3 HAGA) - HEAY - BES Ol & oK '(EI&OEH HuE2
OFMW NE=AzdS A
7,776,000 »3H 23,328
= 11,664
= 11,664
ZOHR! ASIEH &SXIR 900 900 0
202 01t 90 900 0
01 24018 90 900 0
OFOHO! =X A =7 0ft 10,0002 +03] 90
ORI HO AL 2Y 147,976 212,450 AB4, 474
< 31,995
2 115,981
ZOHOl BOIAIL EE 23,976 173,450 £49,474
< 24,795
= 99, 181
307 212+ & 23,976 173,450 £49,474
& 24,795
= 99, 181
N EEYNEEEEETEES 43,301 44,781 A1,480
oYL FOjO! HOIALKAME 2|
43,301,000& *1JH 2 43,301
< 8,660
2 34,641
11 MIISTASEEE 80,675 128,669 A47,994
O BEAA 2]
80,675,000 * 10 2 80,675
= 16,135
= 64,540
LTS QAALE H2H JHa 24,000 0 24,000
= 7,200
= 16,800
402 2I2b 201 & 24,000 0 24,000
< 7,200
2 16,800
02 QIZEXH2AISEE (01X THS) 24,000 0 24,000
OATR QAL H2H N
3,000, 00024 #87H 2 24,000
= 7,200
= 16,800
Zojel =XAL X 7,509,565 6,093,731 1,415,824
2 3,835,857
< 392,375
2 3,081,323
ZOHQISTIAIL BAK SX4Y 159,600 0 159,600
= 31,920
= 127,680
307 £I2¢0I & 159,600 0 159,600
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2H: DRIIEY
E: Zojol =X SX
Sl ZOjOl ZXAE X2 (cto: @

SN B CR(BH) - MRAY - BES

Off &F o4

=[x
Eim

12H

M HY

31,920
127,680

M ALZIZSXAMEE X

OHUMASXIAIE SALL S

162, 1953 x82H « 123

M H1

159,600

159,600

31,920
127,680

159,600

ABIS XD 2H(FO0HR) BAR HRME =g &

M H1

10,800
2,160
8,640

10,800

307 212t0l A

M

10,800

2,160
8,640

10,800

M ALZIZSXAMEE X

OAB S 2H(F0H) BAN HRML =&
A& 150,000 x6& « 12&

M1

10,800

10,800

2,160
8,640

10,800

HH W

3,381,079
2,366,755
202,865
811,459

3,053,863

327,216

307 glztol

H A

3,381,079
2,366,755
202,865
811,459

3,053,863

327,216

H

10 AR STAEEE2HIE X
I

=
O&¥L20t2 2gHl X

10

3,381,079,000& 100 A

HH W

3,381,079

3,381,079
2,366,755
202,865
811,459

3,053,863

327,216

H A

58,867
41,207

3,532
14,128

58,867

307 212t0l A

H o

58,867
41,207

3,532
14,128

58,867

M ALZIZSXAMEE X
A

OFHUMAANFAIE T2

58,867,000& » 100 2~

H A

58,867

58,867
41,207

3,532
14,128

58,867

ZOHRAHFAIE HAHSO

H

280,000
224,000

280,000
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A NFIOHED
g e =X sd

el HoHel SXAIE X2 (2l &)
- _ - &
SA - ZH - SA(SH) - MRAY - BES 0l el S HRE2
< 28,000
o 28,000
301 LB F 280,000 0 280,000
= 224,000
& 28,000
o 28,000
01 A2 EE 3613 280,000 0 280,000
ZOHAAHATAIE MA=SO0 280,000,000 14! 280,000
=2 224,000
& 28,000
i 28,000
ZOHAIHFAIE 2EXA(ZHI) 24,360 17,052 7,308
& 4,872
i 19,488
307 212+01 A 24,360 17,052 7,308
< 4,872
i 19,488
11 MSI=SXAMEE = 24,360 17,052 7,308
OZMUANFAIE dgo XA
2,030,000& *1H*12& 24,360
& 4,872
s 19,488
ZOHCIHFAIE 2 K2 (KAl 39,000 39,000 0
307 QI2+0I A 39,000 39,000 0
10 MSISXAIEHER2IHIES 39,000 39,000 0
OFHMAAN=AIE 2L XA (KHA)
9,750,000& 42|+ 1L 39,000
ZOHCIAFAIE SI1EED| dE K& 6,300 6,300 0
= 3,780
& 504
s 2,016
402 QI+ X201 6,300 6,300 0
= 3,780
< 504
s 2,016
02 QI+ RH2ALL E X (OIE ) 6,300 6,300 0
OZOMAANFAIE 2IEEI| HERXNZ
6,300,000& 100 2 6,300
= 3,780
& 504
s 2,016
ZOHQ! HHMEANE 2 (ESHSE) 209,516 193,970 15,546
307 QI2+0I A 209,516 193,970 15,546
05 QIZtRIE S 209,516 193,970 15,546
OO SSEAE 2]
40,158,000 *4=2 I+ 10 & 160,632
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SA

7(‘| il—l:

cHo

o EoHel

wWEILE
ool =X s&

SXAE X2

= i N
SA-BY.SASH) - RN - B ol &t S HIDE
O ESXAE 23
12,221,000& 42 1+ 100 £ 48,884
DNl HITHEAE 2 (ZOE 2H) 307,877 290,926 16,951
307 212+l 307,877 290,926 16,951
INEETINEEEE=TEES 307,877 290,926 16,951
Odlt= €H oAbl XA
67,921,250« 1 A %42 D | 271,685
Odlti= € =2gdl A&
9,048,000& * 14 2= +42 J| 36,192
O XATHEAE S22 AL (XHAI) 12,000 0 12,000
401 Al HIL 20l 3,000 0 3,000
01 Al€Hdl 3,000 0 3,000
OHMALSHAE JIIS2AA(NS2EX)
3,000,000& * 14! 3,000
405 Aok S| 9,000 0 9,000
01 MHMH =S F S 9,000 0 9,000
YIRS 2B TY(YL)|)
3,000,000 *3CH 9,000
el MEOISKAHH 28 X2 196,994 187,076 9,918
307 212+l 196,994 187,076 9,918
10 M STAEHE2SEIEX 196,994 187,076 9,918
OZMHRl HOISARAME 21248l X2
45,006,250 * 1 A x42 D 180,025
OFMHl H0ISANAME 2SHl N2
4,242, 25O°4*DHA*4—v—3| 16,969
=0 SFdH 29 X 210,210 184,200 26,010
307 212+l 210,210 184,200 26,010
10 M2SXNALHE2HIEX 210,210 184,200 26,010
O4O0|SHME Q121H] X2
46,682,2502 % 17§ A %42 186,729
O+=0ISdH 24 X2
5,268,250 104 242 J| 21,073
O©=0f Bl AFRHHI XI& 2,408,000 12 2,408
ZoHel F2E2SdE 249 X 233,297 216,503 16,794
307 212tol & 233,297 216,503 16,794
10 M2SXNALHE2HIEX 233,297 216,503 16,794
OFM=AESHEH lAHl XI&
54,324,250 14 A #42D| 217,297
OFMHIFAESHEH 28 X
4,000,000& * 14 2= +42 D 16,000
ZOoHe! MEXJAHEH 23 40,437 40,437 0
& 8,087
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SN DRIED
o ool =X ST

& B SXAIE K& EEEEE
P = N
SA-BY.SASH) - RN - B ol &t S HIDE
o 32,350
307 212+ol 40,437 40,437 0
& 8,087
= 32,350
M AIRISXMEE X 40,437 40,437 0
OAIZTE e THEXRALE =2
40,437,000% * 11 2= 40,437
& 8,087
= 32,350
ANHF0HS NEHAAAEH 24 100,923 51,589 49,334
307 212tol & 100,923 51,589 49,334
10 M SXAELEHE2SEIEX 100,923 51,589 49,334
OXNHFOHR! XX HE QlAH|
18,019,500« 1H A x4= | 72,078
OXHHMH! AL b
7,211,250 x 104 242 D 28,845
ZoHr LTt X (AR Xtel) 55,181 39,398 15,783
= 27,591
S 5,517
= 22,073
101 14| 55,181 39,398 15,783
= 27,591
S 5,517
= 22,073
04 JIZtN 22 NS+ 55,181 39,398 15,783
OO0 AlZEME At K&
1,149,604 2 401 x12& 55,181
= 27,591
S 5,517
= 22,073
ol SXxel X 77,281 73,330 3,951
= 38,641
& 7,728
= 30,912
307 212+l 77,281 73,330 3,951
= 38,641
& 7,728
= 30,912
05 22t E= 77,281 73,330 3,951
OZMe SXLXtel X2
536,673 *12Q1x12& 77,281
= 38,641
& 7,728
= 30,912
el sAASH A& 1,286,034 961,492 324,542
= 900,224
S 77,162
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A NFIOHED
g e =X sd

el HoHel SXAIE X2 (el &3
- _ - &
SA - ZH - SA(SH) - MRAY - BES 0l el S HRE2
s 308,648
307 212+01 A 1,286,034 961,492 324,542
= 900,224
& 77,162
i 308,648
05 QIZtRE S 1,286,034 961,492 324,542
OEM EsSXNA=H XA
1,880, 166& x57H x12& 1,286,034
= 900,224
< 77,162
i 308,648
Es2X 2o 1,429 2,313 A 884
= 1,000
& 86
s 343
307 212+01 A 1,429 2,313 A 884
= 1,000
& 86
s 343
05 QIZtRIE S 1,429 2,313 A 884
OEESEX Jret=2o 1,429,000& x1H 1,429
= 1,000
& 86
i 343
BETHEMEIA HIRX™ K& 62,640 58,339 4,301
= 43,848
& 3,758
s 15,034
307 QI2+0I A 62,640 58,339 4,301
= 43,848
< 3,758
s 15,034
05 QIZtRIE S 62,640 58,339 4,301
OZEMEMEIA HIRH X
180,000 x29& 128 62,640
= 43,848
& 3,758
s 15,034
DI FAESAHIA KR 269,730 221,674 48,056
= 188,811
< 16,184
i 64,735
307 QI2+0I A 269,730 221,674 48,056
= 188,811
< 16,184
i 64,735
05 BIZtRE S 269,730 221,674 48,056

—-340-




A NFIOHED
g e =X sd

SRl ZOHQl 2XAIE X (el &2
- - — bS]
2AH -3 ..SA(ZAH) - HIRAIS - BHAES Ofl AFoH om'&% Hunsz2
OLS ROl FAUHESAHIA X
1,729,038 x 132 »12& 269,730
= 188,811
[= 16, 184
= 64,735
ZHOHQIS| 2t ZE=(AHAI) 486,000 0 486,000
401 Al H| LY 486,000 0 486,000
01 Al&H| 476,000 0 476,000
OZOHQIZI 2 ZS=(&H,2AH)
476,000,000 * 14l 476,000
02 22l 10,000 0 10,000
OFs 2 == LelH(HF,2Y)
10,000, 000 14! 10,000
HESAAH|(NIIISH) 670,518 462,037 208,481
=2 154,322
] 33,231
[= 23,314
= 459,651
Ol A (SIS 598,880 462,037 136,843
=2 154,322
] 33,231
[= 23,314
= 388,013
OlARAY (SIS ) 145,722 0 145,722
101 @124 4| 145,722 0 145,722
=S 88,463 0 88,463
(CESNIF=R=ta= 10,8414 %17 «480 Al 2t 88,463
03 ZRE(2I|H) 222 57,259 0 57,259
OFAELHPY BRE FNY224H
20,0002 x5 x336A| 2+ 33,600
OFAHSHY BRE 522245
100,000 x5& x452 22,500
ONAZZ 2R A2t
12,8702 *60 Al 2H%150% 1,159
MYUHE XE2H(Q12A4H]) 131,040 127,584 3,456
= 65,520
[= 13,104
= 52,416
101 @124 4| 119,340 127,584 A8,244
= 59,670
[= 11,934
= 47,736
03 ZRE(2I|H) 222 119,340 127,584 N8,244
OF A AEEAL Q12| 119,340
ol=3 2,200,000 401 x9% 79,200
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2AM: WIIEL
Y HYR2AAL(WSIHED)
ol IHFA2YH(NFIIE 1) (el &)
SA SR (S) - MRAY - BAS il &t e RS2
= 39,600
L= 7,920
i 31,680
ORNRey 140, 0002 *421 x92! 5,040
= 2,520
& 504
i 2,016
O&es< 110,000 4021 x9& 3,960
= 1,980
& 396
o 1,584
(OFIE-Ea= 60,000 #4021 x9& 2,160
= 1,080
L= 216
i 864
oJEsd 110,000& »421x9& 3,960
= 1,980
& 396
o 1,584
OFHZAH| (MR &)
140,000 421« 12 6,720
= 3,360
L= 672
i 2,688
O&sZl 100,000& 4021128 4,800
= 2,400
& 480
o 1,920
Og&Esg 100,000 x 121 x12& 1,200
= 600
L= 120
o 480
OZE SO 2,200,000 *421+60% 5,280
= 2,640
L= 528
i 2,112
(OFSI=S = 1,755,000& 401 7,020
= 3,510
& 702
o 2,808
04 H3IRE=S 11,700 0 11,700
= 5,850
L= 1,170
i 4,680
01 H=RE= 5,040 0 5,040
O=813 A= RE= 140,000& #421x93 5,040
= 2,520
& 504
o 2,016
02 FALEEHS 4,320 0 4,320
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2A: usIEY
B BHSAAH (KIS D)
S OHESIH(NFIIE) (A< =JH)
SN B S() - MBAY - BAS 01l &k o e HlDS2
OFHZAlH| 140,000 201 x12& 3,360
= 2,688
= 202
= 470
[OF === 110,000 221 % 12& 2,640
= 2,112
& 158
= 370
(ORIF-E= 60,000& *201x12& 1,440
= 1,152
= 86
= 202
O&EFSY 140,000 x221 %102 2,800
= 2,240
& 168
= 392
(@)SES= 6,000,000 1A 6,000
= 4,800
& 360
= 840
CEAEE SgAte2el(el281) (XbA) 50,611 46,779 3,832
101 Q124 H| 39,202 46,779 NT,577
0B R (RIAHL)22XE 4 39,202 46,779 ANT,577
© Al2tel==< 14,5102 *2H * 180 Al 2t % 150% 7,836
oxgg=2ag 116,000 x2H x5 * 150% 1,740
oJ=23 2,388,000 221 x2& 9,552
O X EFItHI 1,434,000 x2H *23| 5,736
OXR+H 140,000& 221 x2& 560
(OPNEEE = 50,0002 *221x12& 1,200
Qs 40,000& *121%12& 480
O I E At 116, 1003 x2H 10 2,322
o&FEZ=+Y 2,388,000& »22I 4,776
OJSESESE=F= 5,000,000 14 5,000
304 AZRE3S 11,409 0 11,409
01 H3RE3 4,446 0 4,446
O=2AHZ A= 232 98,800,000 4. 5% 4,446
02 =RIALEEZ3 3,850 0 3,850
O=0IAHLEH ANAF 22
98,800,000 *3.43% 3,389
0= FIRQYEE M= 2EHS
4,000,000& *11.52% 461
04 SR (PIHL) 22N LEEERL2S 3,113 0 3,113
OMTHEE At 23 98,800,000&*0.015 1,482
OLNEEE A= 2E32 98,800,000 *1.65% 1,631
OtsS= X WA X (0124d]) 24,164 43,537 A19,373
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A WIS
M HHSAAL (DSIIED)
el A2 (NSIHEL) (el &)
o - = PSEE
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
= 12,082
< 2,416
= 9,666
101 14| 24,164 43,537 219,373
= 12,082
< 2,416
= 9,666
03 BRA(PIIAHL)Z22XE+ 24,164 43,537 19,373
OOts= X WAL 21244 XI& 24,164
oJles 2,013,666 11«12 24,164
= 12,082
< 2,416
= 9,666
OlsS2sdER¥ ¢ 31,900 31,460 440
= 25,520
S 1,914
= 4,466
101 2124H| 31,900 31,460 440
= 25,520
S 1,914
= 4,466
03 SR (RI1H 31,900 31,460 440
OootsE=d 31,900
oJlzs 2,170,000& x1& =122 26,040
= 20,832
S 1,562
= 3,646
og=2+g 1,180,000& »23] 2,360
= 1,888
S 142
= 330
(OISR 3,500,000 1 3,500
= 2,800
< 210
= 490
OlsS2sdER¥ ¢ 20,171 22,032 1,861
101 2124H| 14,999 22,032 A7,033
03 SR (21 14,999 22,032 A7,033
OA 2= 14,1002 180 Al 2+ 150% 3,807
OYERIHI 1,383, 135& #23| 2,767
(@F=R= ] 140,000 x 12 1,680
oxerd 140,000 x 12 1,680
odclxg 110,000& *x12& 1,320
oolag 60,000& *12& 720
oA=& 50,000& *12& 600
O It2 48l 112,490« 18 %10 1,125
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2A: usIEY
Hu: #E2ARY(DBIIE)
ol IHFA2YH(NFIIE 1) (==&
SN B G(EN) - MBEAY - BES Ol ate e HIDE2
OEIX=SHEY3 1,300, 000 =14 1,300
304 AZRE3S 5,172 0 5,172
01 H3RE= 2,025 0 2,025
o324z 45,000,000 *4. 5% 2,025
02 FALEEHS 1,729 0 1,729
OHLEH 45,000,000 *3.43% 1,544
OFIIRLEH 1,600,000 *11.52% 185
04 SRA(RINHL) 22N NEREZRLYZS 1,418 0 1,418
(OME=38= 45,000,000& *1.65% 743
OLtEE 45,000,000&*0.015 675
OFS S X WAHKI G AISI XA 2124d] 21,136 0 21,136
101 el 24| 13,583 0 13,583
03 BRA(RIAHA)2ENES 13,583 0 13,583
OOtsS=E X WAL 21244 XI& 13,583
(OFSF=sa= 1,754,800 #1001 %23 3,510
OFEEFIHI 1,316, 1062 «1Q1x23 2,633
OFHZ A 140,000 121« 128 1,680
O 140,000& 121« 122 1,680
O&¥d=Y 110,000 x 121 x12& 1,320
(O, 50,000 *121 %123 600
ONEx 40,000 121 %123 480
Oola== 60,000& *121 %123 720
OHII2 4| 96,000 *121x10! 960
202 04| 900 0 900
01 =L YI 900 0 900
O=& 0l 150,000 121 «6 & 900
304 AZRE3S 6,653 0 6,653
01 H3RE3 3,024 0 3,024
O=0AZEEZ(J|H) 252,000 x 11«12 3,024
02 =RIALEEZ3 2,400 0 2,400
oOHLEEIZ(J|2) 200,000& 121128 2,400
04 SRA(RINHL) 22N NEEBEZRLYZS 1,229 0 1,229
OLNEAMMEER 102,400 x 11«12 1,229
JI2BE(WII=E1 71,638 0 71,638
Jl2Zal(uURIIE 71,638 0 71,638
201 Lt | 31,658 0 31,658
01 AL 22l bl 31,658 0 31,658
O Et==2H| 16,790,000& * 14! 16,790
O=gHl 6,528,000 * 14 6,528
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A WIS
M HYSAAH (WSS
Sl JI2FH(REIIED) (St A2
o - = PSEE
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
(©)=bNj=3 6,540,000& * 14! 6,540
OusII=EW SFH LIS 1,800
OFaEsd2 IAEX T AL TSI
300,000% «3& 900
OOts S Atel 2tel A TI=Hl 300,000 »2H 600
O0ts2sd5R3 1= 300,000 1 300
202 044 35,000 0 35,000
01 =W oddl 35,000 0 35,000
gR=d Jl20sl 23,100,000& * 14| 23,100
OS2 0l 11,900
OFadsgat FAEXTAL 01
150,000 «3& %102 4,500
O AEE OtSSEAtd2t2lAL 0]
200,000& x2& 122 4,800
O0ts2sd8523 0 200,000 122 2,400
O0ldzla S22 Ol 50,000 *42] 200
203 R =2yl 4,980 0 4,980
04 FNE2SEFFAH 4,980 0 4,980
OFN2IYRFAYI 415,000~ 122 4,980
Hess(WsItED) 511,467 0 511,467
WEAHHX S (LIS 49,000 0 49,000
LHEHH X & 49,000 0 49,000
R2IJlsdEs 49,000 0 49,000
NIIEEFSE= 49,000 0 49,000
OFUMU=III= d&E= 40,000,0003 14 40,000
oxgdEsSIls M= 9,000,000 =14 9,000
LIS HcH X 462,467 0 462,467
AzS0HIIS(E)IHES 462,467 0 462,467
701 JIEtsI NS EHES 462,467 0 462,467
O1 JIEtI AT ES 462,467 0 462,467
O2AZSHIIS(SIHES  462,467,000& *14] 462,467
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